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Polynomial regression

Polynomial order: 2
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Polynomial regression

o Polynomial order: 20
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Polynomial regression
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Polynomial regression
fl=w) =
f(x) =1.15+ 1.35x + 0.66x2
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Polynomial regression

flx) =279+ 3.59x2 — 15.61x3 —9.57x% + 15.11x> + 8.01x% — 4.03x7 + ...
T
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RBF with ¢ = [1900, 1950, 2000] and h = 20
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RBF with ¢ = [1900, 1950, 2000] and h = 20
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RBF with ¢ = [1900, 1910, ..., 2000] and A = 10
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RBF with ¢ = [1900, 1910, ...,2000] and & = 10
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RBF with ¢ = [1900, 1901, ...,2000] and h =1
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.,2000] and h = 1
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Regularization

Combatting overfitting
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RBF with ¢ = [1900, 1901, ...,2000] and h = 1

K
Ridge regression with A = 1: > w? =0.68
k=1
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RBF with ¢ = [1900, 1901, ...,2000] and h = 1

K
Lasso regression with A = 0.01: 2. wi =1.52
k=1
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Lasso and ridge regression on diabetes data
L Lo

Coefficients (wy)
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